MODEL: CF 9045 (5')

Assembly Instruction

2 pes

Ttem AA Lpe Ttem AB m L pe Ttem AC
Headboard Footboard Side Rail /
Ttem AD 1 pe Ttem AE 2pes | ftem AF 1 pe

oga:ﬂw/

36 pes

14 pes

64 pes

2 pes

Item A Item B Item C Item D
e [pesasas s
Plastic Dowel ( 8 x 25) JCBCWM6x40| CSKM3.5x 16 mm CSK M4 x 25 mm
Item E 47pes | [temF 32pes | jemG 8 pes Item H 8 pes

[{pmaasanniesy

P

e 2

14 pcs Slat Support Leg
tem AG T ] peman \ Sos
Drawer Slide 500 \UH,E. Slide 500
Ttem 1 4 pes Item 2 4 pes Item 3 4 pes Item 4 8 pcs
L
\ X
.-
_ Drawer Front Panel Drawer Back Panel H Drawer Bottom Panel Drawer Side Panel o
9|
Item 5 8 pes Item 6 1 pc :«B\ 2 pes Item 8 4 pes
Ttem 9 2 pes Ttem 10 1 pc Ttem 11 1 pc

CSK M4 x 32 mm CSK M4 x 50 mm Mini Fix Bolt Mini Fix Housing
Ttem I 8 pes Item J 56 pes Item K 17 pes Item L Lpe
Mini Fix Cap Power Nail % White Nail Leg Allen Key 65 mm
Item M 8 pes Item N 2pes Item O 2pes Item P 8 pes

D

Plastic Pin 25 mm

JCBC M6 x 40

Adjuster

JCBC M6 x 30 mm

8 pes

Item Q

M6 Flat Washers




I doig

0]
=+
(¢}
o
[\
2 w2
= =
(¢} (¢}
o o
(@)} (98]




01 das

iii |oued ay1 Jo apis y10q
Y

J10S U] Uydeye 0] aAe

g daig

6 dais







61 daig

0z do1g




